Thai Journal of **Math**ematics Volume 20 Number 1 (2022) Pages 281–291

http://thaijmath.in.cmu.ac.th



Diffrential Subordination and Generalized Bessel Functions

Samira Rahrovi

Department of Mathematics, Basic Science Faculty, University of Bonab, Bonab, 5551761167, Iran e-mail: s.rahrovi@ubonab.ac.ir

Abstract In this paper, differential subordination preserving properties for analytic functions in the open unit disk with an operator involving generalized Bessel functions are investigated. Some particular cases involving trigonometric functions of our main results are also derived.

MSC: 30C45; 30C80; 33C10

Keywords: generalized Bessel function; analytic function; Hadamard product; Bernardi operator

Submission date: 13.05.2019 / Acceptance date: 02.11.2021

1. Introduction

Let H(U) be the class of analytic functions in the open unit disk $U=\{z\in\mathbb{C}:\ |z|<1\}$. Also let \mathcal{P} be the class of Carathéodory functions in U. For $n\in\mathbb{N}=\{1,2,\ldots\}$, and $a\in\mathbb{C}$, let

$$\mathcal{H}[a,n] = \{ f \in H(U) : f(z) = a + a_n z^n + a_{n+1} z^{n+1} + \dots \},\$$

and let $\mathcal{H}_0 = \mathcal{H}[0,1]$. We denote by A the class of functions of the form

$$f(z) = z + \sum_{k=1}^{\infty} a_{k+1} z^{k+1}, \tag{1.1}$$

which are analytic in the open unit disk U. For two functions f and F, analytic in U, we say that the function f is subordinate to F, and write $f(z) \prec F(z)$, if there exists a Schwarz function w, analytic in U with

$$w(0) = 0$$
 and $|w(z)| < 1$, $z \in U$,

such that f(z) = F(w(z)). Furthermore, if the function F is univalent in U, then we have the following equivalence (cf. [1]):

$$f(z) \prec F(z) \iff f(0) = F(0) \text{ and } f(U) \subset F(U).$$

Let $f \in A$, where f is given by (1.1) and g is defined by

$$g(z) = z + \sum_{k=1}^{\infty} b_{k+1} z^{k+1}, \qquad z \in U,$$

then the Hadamard product (or convolution) f * g of the functions f and g is defined by

$$(f * g)(z) = z + \sum_{k=1}^{\infty} a_{k+1} b_{k+1} z^{k+1} = (g * f)(z)$$
 $z \in U$.

Note that $f * g \in A$.

The generalized Bessel function of the first kind $w = w_{p,b,c}$ is defined as the particular solution of the second-order linear homogeneous differential equation [2, 3]

$$z^{2}w''(z) + bzw'(z) + (cz^{2} - p^{2} + (1 - b)p)w(z) = 0,$$
(1.2)

which is natural generalization of Bessel differential equation. This function has the representation

$$w(z) = w_{p,b,c}(z) = \sum_{n>0} \frac{(-1)^n c^n}{n! \Gamma(p+n+\frac{b+1}{2})} \left(\frac{z}{2}\right)^{2n+p},$$
(1.3)

where $b, p, c, z \in \mathbb{C}$ and $c \neq 0$ and Γ stands for the Euler-Gamma function.

The series (1.3) permits the study of Bessel, modified Bessel and spherical Bessel functions in a unified manner. We note that,

(i) For b = c = 1 in (1.3), we have the familiar Bessel function of the first kind of order p defined by (see [4] and also [3])

$$J_p(z) = w_{p,1,1}(z) = \sum_{n=0}^{\infty} \frac{(-1)^n}{n!\Gamma(p+n+1)} \left(\frac{z}{2}\right)^{2n+p}, \qquad z \in \mathbb{C},$$

(ii) For b = 1 and c = -1 in (1.3), we obtain the modified Bessel function of the first kind of order p defined by (see [4] and also [3])

$$I_p(z) = w_{p,1,-1}(z) = \sum_{n=0}^{\infty} \frac{1}{n!\Gamma(p+n+1)} \left(\frac{z}{2}\right)^{2n+p}, \quad z \in \mathbb{C},$$

(iii) For b=2 and c=1 in (1.3), the function $w_{p,b,c}(z)$ reduces to $\sqrt{2}j_p(z)/\sqrt{\pi}$, where j_p is the spherical Bessel function of the first kind of order p defined by (see [3])

$$j_p(z) = w_{p,2,1} = \sqrt{\frac{\pi}{2}} \sum_{n=0}^{\infty} \frac{(-1)^n}{n!\Gamma(p+n+\frac{3}{2})} \left(\frac{z}{2}\right)^{2n+p}, \qquad z \in \mathbb{C},$$

Recently, Baricz et al. [5], Deniz et al. [6] and Deniz [7] (see also [2, 3, 8–14]) considered the function $u_{p,b,c}(z):U\to\mathbb{C}$ defined, in terms of the generalized Bessel function $w_{p,b,c}(z)$, by the transformation

$$u_{p,b,c}(z) = 2^p \Gamma\left(p + \frac{b+1}{2}\right) z^{1-\frac{p}{2}} w_{p,b,c}(\sqrt{z}).$$
(1.4)

By using the well-known Pochhammer symbol (or the shifted factorial) $(a)_n$ defined, for $a, n \in \mathbb{C}$ and in terms of the Euler Γ -function, by

$$(a)_n = \frac{\Gamma(a+n)}{\Gamma(a)} = \begin{cases} 1, & n = 0, a \in \mathbb{C} \setminus \{0\}, \\ a(a+1)\dots(a+n-1), & n \neq 0, a \in \mathbb{C}, \end{cases}$$

we obtain for the function $u_{p,b,c}$ the following representation

$$u_{p,b,c}(z) = z + \sum_{n=1}^{\infty} \frac{(-1)^n c^n}{4^n(\kappa)_n} \frac{z^{n+1}}{n!},$$
(1.5)

where $\kappa = p + \frac{b+1}{2} \neq 0, -1, -2, \ldots$ For convenience, we write $u_{\kappa,c}(z) = u_{p,b,c}(z)$. This function is analytic on $\mathbb C$ and satisfies the second order linear differential equation

$$4z^{2}u''(z) + 2(2p + b + 1)zu'(z) + czu(z) = 0.$$

Now, we introduce a new operator $B_{\kappa}^{c}:A\to A$, which is defined by the Hadamard product

$$B_{\kappa,c}(f)(z) = u_{\kappa,c}(z) * f(z) = z + \sum_{n=1}^{\infty} \frac{(-c)^n a_{n+1}}{4^n (\kappa)_n} \frac{z^{n+1}}{n!}.$$
 (1.6)

It is easy to verify from the definition (1.6) that

$$z(B_{\kappa+2,c}(f)(z))' = (\kappa+1)B_{\kappa+1,c}(f)(z) - \kappa B_{\kappa+2,c}(f)(z). \tag{1.7}$$

In fact, the function $B_{\kappa,c}(f)(z)$ is an elementary transform of the generalized hypergeometric function defined by (see [15–19]; also [20, 21])

$$_{q}F_{s}(\alpha_{1},\ldots,\alpha_{q};\beta_{1},\ldots,\beta_{s};z) = \sum_{n=0}^{\infty} \frac{(\alpha_{1})_{n},\ldots,(\alpha_{q})_{n}}{(\beta_{1})_{n},\ldots,(\beta_{s})_{n}} \frac{z^{n}}{n!}$$

$$(\alpha_i \in \mathbb{C}; \ \beta_j \in \mathbb{C} \setminus \mathbb{Z}_0^-; \ q \le s+1; \ q, s \in \mathbb{N} \cup \{0\}; \ i=1,2,\ldots,q; \ j=1,2,\ldots,s).$$

That is, we have

$$B_{\kappa,c}(f)(z) = z_0 F_1\left(\kappa; -\frac{c}{4}z\right) * f(z).$$

We observe that, for suitable choices of the parameters b and c, we obtain some new operators:

(i) For b = c = 1 in (1.6), we have the operator $\mathcal{J}_p : A \to A$ related with Bessel function, defined by

$$\mathcal{J}_p f(z) = w_{p,1,1}(z) * f(z) = \left[2^p \Gamma(p+1) z^{1-p/2} J_p(\sqrt{z}) \right] * f(z)$$
$$= z + \sum_{n=1}^{\infty} \frac{(-1)^n a_{n+1}}{4^n (p+1)_n} \frac{z^{n+1}}{n!}.$$

(ii) For b = 1 and c = -1 in (1.6), we obtain the operator $\mathcal{I}_p : A \to A$ related with Bessel function, defined by

$$\mathcal{I}_p f(z) = w_{p,1,-1}(z) * f(z) = \left[2^p \Gamma(p+1) z^{1-p/2} I_p(\sqrt{z}) \right] * f(z)$$
$$= z + \sum_{n=1}^{\infty} \frac{a_{n+1}}{4^n (p+1)_n} \frac{z^{n+1}}{n!}.$$

(iii) For b=2 and c=1 in in (1.6), we get the operator $\mathcal{S}_p:A\to A$ related with Bessel function, defined by

$$S_p f(z) = w_{p,2,1}(z) * f(z) = \left[\pi^{-\frac{1}{2}} 2^{p+\frac{1}{2}} \Gamma\left(p + \frac{3}{2}\right) z^{1-p/2} j_p(\sqrt{z}) \right] * f(z)$$
$$= z + \sum_{n=1}^{\infty} \frac{(-1)^n a_{n+1}}{4^n (p + \frac{3}{2})_n} \frac{z^{n+1}}{n!}.$$

which satisfies the recurrence relation

$$z[\mathcal{S}_{p+1}f(z)]' = \left(p + \frac{3}{2}\right)\mathcal{S}_pf(z) - \left(p + \frac{1}{2}\right)\mathcal{S}_{p+1}f(z).$$

In the present paper, by making use of the differential subordination results of Miller and Mocanu [1], we determine certain subclasses of analytic functions and obtain some subordination of analytic functions associated with the $B_{\kappa,c}$ -operator defined by (1.6). To prove our main results, we need the following definition and lemmas.

Definition 1.1. Let $0 \le \eta < 1$ and $p, b, c \in \mathbb{C}$ be such that $c \ne 0$, $\kappa = p + \frac{b+1}{2} \ne 0, -1, -2, \ldots$ and let $S^c(\kappa, \eta, h)$ be the class of functions $f \in A$ satisfying the condition

$$\frac{1}{1-\eta} \left(\frac{z(B_{\kappa,c}(f)(z))'}{B_{\kappa,c}(f)(z)} - \eta \right) \prec h(z), \qquad 0 \le \eta < 1, h \in \mathcal{P}.$$

For simplicity we write

$$S^{c}\left(\kappa, \eta, \frac{1+Az}{1+Bz}\right) = S^{c}(\kappa, \eta, A, B), \qquad -1 \le B < A \le 1.$$

Lemma 1.2. [22] For $\beta, \gamma \in \mathbb{C}$ let h be convex univalent in U with h(0) = 1 and $\Re (\beta h(z) + \gamma) > 0$, if p is analytic in U with p(0) = 1, then

$$p(z) + \frac{zp'(z)}{\beta p(z) + \gamma} \prec h(z),$$

implies that $p(z) \prec h(z)$.

Lemma 1.3. [23] Let h be convex univalent in U and w be analytic in U with $\Re w(z) > 0$. If p is analytic in U and p(0) = h(0), and

$$p(z) + zw(z)p'(z) \prec h(z),$$

then $p(z) \prec h(z)$.

Lemma 1.4. [24] Let p be analytic in U with p(0) = 1 and $p(z) \neq 0$. Suppose that there exists a point $z_0 \in U$ such that

$$|\arg p(z)| < \frac{\pi}{2}\alpha, \qquad |z| < |z_0|,$$

and

$$|\arg p(z_0)| = \frac{\pi}{2}\alpha, \qquad 0 < \alpha \le 1,$$

then we have

$$\frac{z_0 p'(z_0)}{p(z_0)} = is\alpha,$$

where

$$s \ge \frac{1}{2} \left(a + \frac{1}{a} \right), \quad when \quad \arg p(z_0) = \frac{\pi}{2} \alpha,$$

$$s \le -\frac{1}{2} \left(a + \frac{1}{a} \right), \quad when \quad \arg p(z_0) = -\frac{\pi}{2} \alpha,$$

where

$$p(z_0)^{\frac{1}{\alpha}} = +ia, \quad a > 0.$$

Lemma 1.5. [25] The function

$$(1-z)^{\gamma} \equiv \exp(\gamma \log(1-z)), \qquad \gamma \neq 0,$$

is univalent if only if γ is either in the closed disk $|\gamma - 1| \le 1$ or in the closed disk $|\gamma + 1| \le 1$.

Lemma 1.6. [26] Let q be analytic in U and let $\Theta(w)$ and $\phi(w)$ be analytic in a domain \mathbb{D} containing q(U) with $\phi(w) \neq 0$ when $w \in q(U)$. Set

$$Q(z) = zq'(z)\phi(q(z)), \ h(z) = \Theta(q(z)) + Q(z),$$

and suppose that

- (1) Q is starlike; either
- (2) h is convex;

(3)
$$\Re\left(\frac{zh'(z)}{Q(z)}\right) = \Re\left(\frac{\Theta'(q(z))}{\phi(q(z))} + \frac{zQ'(z)}{Q(z)}\right) > 0.$$

If p is analytic in U with p(0) = q(0) and $p(U) \subset \mathbb{D}$, and

$$\Theta(p(z)) + zp'(z)\phi(p(z)) \prec \Theta(q(z)) + zq'(z)\phi(q(z)) = h(z),$$

then $p(z) \prec q(z)$, and q is the best dominant.

2. Main Results

Theorem 2.1. Let $f \in A$, $h \in \mathcal{P}$, $0 \le \eta < 1$, $c \in \mathbb{C}$ with $c \ne 0$, $p, b \in \mathbb{R}$ be such that $\kappa > -1$ and suppose that

$$\Re \big((1 - \eta)h(z) + \eta + \kappa \big) > 0.$$

Then the subordination condition

$$\frac{1}{1-\eta} \left(\frac{z \left(B_{\kappa+1,c}(f)(z) \right)'}{B_{\kappa+1,c}(f)(z)} - \eta \right) \prec h(z),$$

implies that

$$\frac{1}{1-\eta} \left(\frac{z \left(B_{\kappa+2,c}(f)(z) \right)'}{B_{\kappa+2,c}(f)(z)} - \eta \right) \prec h(z),$$

where $B_{\kappa+2,c}(f)(z) \neq 0$ for $z \in U$.

Proof. Let

$$p(z) = \frac{1}{1 - \eta} \left(\frac{z (B_{\kappa + 2, c}(f)(z))'}{B_{\kappa + 2, c}(f)(z)} - \eta \right) \prec h(z),$$

where p is an analytic function with p(0) = 1. By using the equation

$$z(B_{\kappa+2,c}(f)(z))' = (\kappa+1)B_{\kappa+1,c}(f)(z) - \kappa B_{\kappa+2,c}(f)(z), \quad z \in U.$$
 (2.1)

we have

$$(1 - \eta)p(z) + \eta + \kappa = \frac{(\kappa + 1)B_{\kappa + 1, c}(f)(z)}{B_{\kappa + 2, c}(f)(z)}.$$
(2.2)

Differentiating logarithmically derivatives in both sides of (2.2) and using (2.1) we have

$$p(z) + \frac{zp'(z)}{(1 - \eta)p(z) + \eta + \kappa} = \frac{1}{1 - \eta} \left(\frac{z \left(B_{\kappa + 1, c}(f)(z) \right)'}{B_{\kappa + 1, c}(f)(z)} - \eta \right), \quad 0 \le \eta < 1.$$

Since $\Re((1-\eta)h(z)+\eta+\kappa)>0$, applying Lemma 1.2, it follows that $p(z)\prec h(z)$, that is

$$\frac{1}{1-\eta} \left(\frac{z \left(B_{\kappa+2,c}(f)(z) \right)'}{B_{\kappa+2,c}(f)(z)} - \eta \right) \prec h(z).$$

This completes the proof.

Theorem 2.2. Let $0 < \rho < 1$, $\gamma \neq 1$, $c \in \mathbb{C}$ with $c \neq 0$, $p, b \in \mathbb{R}$ be such that $\kappa > -1$ satisfying either $|2(\kappa + 1)\gamma \rho - 1| \leq 1$ or $|2(\kappa + 1)\gamma \rho + 1| \leq 1$. If $f \in A$ satisfies the condition

$$\Re\left(1 + \frac{B_{\kappa+1,c}(f)(z)}{B_{\kappa+2,c}(f)(z)}\right) > 1 - \rho, \quad z \in U,$$
(2.3)

then

$$\left(z^{\kappa}B_{\kappa+2,c}(f)(z)\right)^{\gamma} \prec q_1(z) = \frac{1}{(1-z)^{2(\kappa+1)\gamma\rho}},$$

where q_1 is the best dominant and $z^{\kappa}B_{\kappa+2,c}(f)(z) \neq 0$ for $z \in U$.

Proof. Denoting $p(z) = (z^{\kappa} B_{\kappa+2,c}(f)(z))^{\gamma}$. It follows that

$$\frac{zp'(z)}{p(z)} = \gamma(\kappa + 1) \frac{B_{\kappa+1,c}(f)(z)}{B_{\kappa+2,c}(f)(z)}.$$
(2.4)

Combing (2.3) and (2.4), we find that

$$1 + \frac{zp'(z)}{(\kappa + 1)\gamma p(z)} \prec \frac{1 + (2\rho - 1)z}{1 - z},\tag{2.5}$$

if we set $\Theta(w) = 1$, $\phi(w) = \frac{1}{\gamma(\kappa+1)w}$, and $q_1(z) = \frac{1}{(1-z)^{2(\kappa+1)\gamma\rho}}$, then by the assumption of the theorem and making use of Lemma 1.6, we know that q_1 is univalent in U. It follows that

$$Q(z) = zq'_1(z)\phi(q_1(z)) = \frac{2\rho z}{1-z},$$

and

$$h(z) = \Theta(q_1(z)) + Q(z) = \frac{1 + (2\rho - 1)z}{1 - z}.$$

If we consider D such that

$$q(U) = \left\{ w : |w^{\frac{1}{\xi}} - 1| < |w^{\frac{1}{\xi}}|, \quad \xi = 2\gamma(\kappa + 1)\rho \right\} \subset D,$$

then it is easy to check that the conditions (i) and (ii) of Lemma 1.6 hold true. Thus, the desired result of Theorem 2.2 follows from (2.5).

Taking into account the above result, we have the following particular case. Choosing $f(z) = \frac{z}{1-z}$, $\rho = \frac{1}{2}$, $p = -\frac{3}{2}$, b = c = 1 ($\kappa = -\frac{1}{2}$) and $p = -\frac{1}{2}$, b = c = 1 ($\kappa = \frac{1}{2}$), in the above theorem we obtain for $\kappa > -1$ and $z \in U$ the following results

$$\Re\left(1+\sqrt{z}\cot\sqrt{z}\right) > \frac{1}{2} \Rightarrow \left(\frac{\sin\sqrt{z}}{z}\right)^{\gamma} \prec \frac{1}{(1-z)^{\frac{\gamma}{2}}},$$

and

$$\Re\left(1+\frac{z\sin\sqrt{z}}{3(\sin\sqrt{z}-\sqrt{z}\cos\sqrt{z})}\right)>\frac{1}{2}\Rightarrow\left(3\frac{\sin\sqrt{z}-\sqrt{z}\cos\sqrt{z}}{z}\right)^{\gamma}\prec\frac{1}{(1-z)^{\frac{3}{2}\gamma}}.$$

Here we used the relations

$$u_{-\frac{1}{2},1,1} = \sqrt{\frac{\pi}{2}} z^{\frac{1}{4}} J_{-\frac{1}{2}}(\sqrt{z}) = \cos \sqrt{z}, \ \ u_{\frac{1}{2},1,1} = \sqrt{\frac{\pi}{2}} z^{-\frac{1}{4}} J_{\frac{1}{2}}(\sqrt{z}) = \frac{\sin \sqrt{z}}{\sqrt{z}},$$

and

$$u_{\frac{3}{2},1,1} = 3\sqrt{\frac{\pi}{2}}z^{-\frac{31}{4}}J_{\frac{3}{2}}(\sqrt{z}) = 3\left(\frac{\sin\sqrt{z}}{z\sqrt{z}} - \frac{\cos\sqrt{z}}{z}\right).$$

Theorem 2.3. Let h be convex univalent function in U and

$$\Re(\mu + \eta + (1 - \eta)h(z)) > 0, \qquad z \in U.$$

If $f \in A$ satisfies the condition

$$\frac{1}{1-\eta} \left(\frac{z(B_{\kappa+1,c}(f)(z))'}{B_{\kappa+1,c}(f)(z)} - \eta \right) \prec h(z), \qquad 0 \le \eta < 1,$$

then

$$\frac{1}{1-\eta} \left(\frac{z(B_{\kappa+1,c}(F_{\mu}(f))(z))'}{B_{\kappa+1,c}(F_{\mu}(f))(z)} - \eta \right) \prec h(z), \qquad 0 \le \eta < 1,$$

where F_{μ} is the Bernadi integral operator defined by

$$F_{\mu}(f)(z) = \frac{\mu + 1}{z^{\mu}} \int_{0}^{z} t^{\mu - 1} f(t) dt.$$
 (2.6)

Proof. From (2.6), we have

$$z(B_{\kappa+1,c}(F_{\mu}(f))(z))' = (\mu+1)B_{\kappa+1,c}(f)(z) - \mu B_{\kappa+1,c}(F_{\mu}(f))(z). \tag{2.7}$$

Let

$$p(z) = \frac{1}{1 - \eta} \left(\frac{z(B_{\kappa+1,c}(F_{\mu}(f))(z))'}{B_{\kappa+1,c}(F_{\mu}(f))(z)} - \eta \right), \tag{2.8}$$

where p is analytic function with p(0) = 1. Then, using (2.7) we get

$$\mu + \eta + (1 - \eta)p(z) = (\mu + 1)\frac{B_{\kappa + 1, c}(f)(z)}{B_{\kappa + 1, c}(F_{\mu}(f))(z)}.$$
(2.9)

Differentiating logarithmically in both sides of (2.9) and multiplying by z, we have

$$p(z) + \frac{zp'(z)}{\mu + \eta + (1 - \eta)p(z)} = \frac{1}{1 - \eta} \left(\frac{z(B_{\kappa + 1, c}(f)(z))'}{B_{\kappa + 1, c}(f)(z)} - \eta \right).$$

Since $\Re(\mu + \eta + (1 - \eta)p(z)) > 0$ thus by Lemma 1.2, we have

$$p(z) = \frac{1}{1 - \eta} \left(\frac{z(B_{\kappa + 1, c}(F_{\mu}(f))(z))'}{B_{\kappa + 1, c}(F_{\mu}(f))(z)} - \eta \right) \prec h(z).$$

This completes the proof.

Theorem 2.4. Let $f \in A$, $0 < \delta \le 1$, $0 \le \gamma < 1$, $c \in \mathbb{C}$ with $c \ne 0$, $p, b \in \mathbb{R}$ be such that $\kappa > -1$. If

$$\left| \arg \left(\frac{z(B_{\kappa+1,c}(f)(z))'}{B_{\kappa+1,c}(g)(z)} - \gamma \right) \right| < \frac{\pi}{2} \alpha,$$

for some $g \in S^c(\kappa + 1, \eta, A, B)$. Then

$$\left| \arg \left(\frac{z(B_{\kappa+2,c}(f)(z))'}{B_{\kappa+1,c}(g)(z)} - \gamma \right) \right| < \frac{\pi}{2} \alpha.$$

where α (0 < $\alpha \le 1$) is the solution of the equation

$$\delta = \begin{cases} \alpha + \frac{2}{\pi} \arctan \frac{\alpha \cos \frac{\pi}{2} t_1}{\frac{(1-\gamma)(1+A)}{1+B} + \gamma + \kappa + \alpha \sin \frac{\pi}{2} t_1}, & B \neq -1, \\ \alpha, & B = -1, \end{cases}$$

$$(2.10)$$

where

$$t_1 = \frac{2}{\pi} \arcsin\left(\frac{(1-\gamma)(A-B)}{(1-\gamma)(1-AB) + (\gamma+\kappa)(1-B^2)}\right).$$
 (2.11)

Proof. Let

$$p(z) = \frac{1}{1 - \gamma} \left(\frac{z(B_{\kappa+2,c}(f)(z))'}{B_{\kappa+1,c}(g)(z)} - \gamma \right).$$

Using (1.7), it is easy to see that

$$((1 - \gamma)p(z) + \gamma)B_{\kappa+2,c}(g)(z) = (\kappa + 1)B_{\kappa+1,c}(f)(z) - \kappa B_{\kappa+2,c}(f)(z). \tag{2.12}$$

Differentiating (2.12) and multiplying by z, we obtain

$$(1 - \gamma)zp'(z)B_{\kappa+2,c}(g)(z) + ((1 - \gamma)p(z) + \gamma)z(B_{\kappa+2,c}(g)(z))'$$

= $(\kappa + 1)z(B_{\kappa+1,c}(f)(z))' - \kappa z(B_{\kappa+2,c}(f)(z))'$ (2.13)

Since $g \in S^c(\kappa + 1, \eta, A, B)$, by Theorem 2.1, we have $g \in S^c(\kappa + 2, \eta, A, B)$. Let

$$q(z) = \frac{1}{1 - \gamma} \left(\frac{z(B_{\kappa + 2, c}(g)(z))'}{B_{\kappa + 1, c}(g)(z)} - \gamma \right).$$

Then by using (1.7) once again, we have

$$q(z)(1-\gamma) + \gamma + \kappa = (\kappa + 1) \frac{B_{\kappa+1,c}(g)(z)}{B_{\kappa+2,c}(g)(z)}.$$
(2.14)

From (2.13) and (2.14), we obtain

$$\frac{zp'(z)}{q(z)(1-\gamma)+\gamma+\kappa}+p(z)=\frac{1}{1-\gamma}\left(\frac{z(B_{\kappa+1,c}(f)(z))'}{B_{\kappa+1,c}(g)(z)}-\gamma\right).$$

Since $q(z) \prec \frac{1+Az}{1+Bz}$ $(-1 \leq B < A \leq 1)$, we have

$$\left| q(z) - \frac{1 - AB}{1 - B^2} \right| < \frac{A - B}{1 - B^2} , z \in U, \ B \neq -1,$$
 (2.15)

and

$$\frac{1-A}{2} \le \Re \ q(z) \qquad , z \in U, \ B = -1.$$
 (2.16)

Therefore, from (2.15) and (2.16), we obtain

$$\left| q(z)(1-\gamma) + \gamma + \kappa - \frac{(1-\gamma)(1-AB)}{1-B^2} - \gamma - \kappa \right| < \frac{(1-\eta)(A-B)}{1-B^2}, \quad B \neq -1.$$

For B = -1, we have

$$\Re(q(z)(1-\gamma)+\gamma+\kappa) > \frac{(1-\gamma)(1-A)}{2} + \gamma + \kappa.$$

Let $q(z)(1-\gamma) + \gamma + \kappa = r \exp(i\frac{\Phi}{2})$, where

$$\frac{(1-\gamma)(1-A)}{1-B} + \gamma + \kappa < r < \frac{(1-\gamma)(1+A)}{1+B} + \gamma + \kappa, \qquad B \neq -1, \ -t_1 < \Phi < t_1,$$

and t_1 is given by (2.11), and

$$\frac{(1-\gamma)(1-A)}{2} + \gamma + \kappa < r < \infty, \qquad B = -1, \ -t_1 < \Phi < t_1.$$

We note that p is analytic in U with p(0) = 1, so by applying the assumption and Lemma 1.3 with

$$w(z) = \frac{1}{q(z)(1-\gamma) + \gamma + \kappa},$$

we have $\Re w(z) > 0$. Set

$$Q(z) = \frac{1}{1 - \gamma} \left(\frac{z(B_{\kappa+1,c}(f)(z))'}{B_{\kappa+1,c}(g)(z)} - \gamma \right), \qquad 0 \le \gamma < 1.$$

At first, suppose that $p(z_0)^{\frac{1}{\alpha}} = ia(a > 0)$. For $B \neq -1$ we have

$$\arg(Q(z_0)) = \arg\left(\frac{z_0 p'(z_0)}{q(z_0)(1-\gamma) + \gamma + \kappa} + p(z_0)\right)$$

$$= \frac{\pi}{2}\alpha + \arg\left(1 + \frac{is\alpha}{r}\left(\exp\left(\frac{-i\pi}{2}\Phi\right)\right)\right)$$

$$\geq \frac{\pi}{2}\alpha + \arctan\left(\frac{s\alpha\sin\frac{\pi}{2}(1-\Phi)}{r + k\alpha\cos\frac{i\pi}{2}(1-\Phi)}\right)$$

$$\geq \frac{\pi}{2}\alpha + \arctan\left(\frac{\alpha\cos\frac{\pi}{2}t_1}{(1-\gamma)(1+A)} + \gamma + \kappa + \alpha\sin\frac{\pi}{2}t_1\right)$$

$$= \frac{\pi}{2}\delta,$$

where δ and t_1 are given by (2.10) and (2.11), respectively. Similarly, for the case B = -1, we have

$$\arg(Q(z)) = \arg\left(\frac{z_0 p'(z_0)}{q(z_0)(1-\gamma) + \gamma + \kappa} + p(z_0)\right) \ge \frac{\pi}{2}\alpha.$$

These results obviously contradict the assumption.

Next, suppose that $p(z_0)^{\frac{1}{\alpha}} = -ia$ (a > 0), $B \neq -1$ and $z_0 \in U$. Applying the same method we have

$$\arg(Q(z_0)) = \arg\left(\frac{z_0 p'(z_0)}{q(z_0)(1-\gamma) + \gamma + \kappa} + p(z_0)\right)$$

$$= \frac{-\pi}{2}\alpha + \arg\left(1 - is\alpha\left(r\exp\left(\frac{i\pi}{2}\Phi\right)\right)^{-1}\right)$$

$$\leq \frac{-\pi}{2}\alpha - \arctan\left(\frac{s\alpha\sin\frac{\pi}{2}(1-\Phi)}{r + s\alpha\cos\frac{i\pi}{2}(1-\Phi)}\right)$$

$$\leq \frac{-\pi}{2}\alpha - \arctan\left(\frac{\alpha\cos\frac{i\pi}{2}t_1}{\frac{(1-\gamma)(1+A)}{1+B} + \gamma + \kappa + \alpha\sin\frac{\pi}{2}t_1}\right)$$

$$= \frac{-\pi}{2}\delta,$$

where δ and t_1 are given by (2.10) and (2.11) respectively.

Similarly, for the case B = -1, we have

$$\arg(Q(z)) = \arg\left(\frac{z_0 p'(z_0)}{q(z_0)(1-\gamma) + \gamma + \kappa} + p(z_0)\right) \le \frac{-\pi}{2}\alpha,$$

which contradicts the assumption of Theorem 2.4. Therefore, the proof of Theorem 2.4 is completed.

References

- [1] S.S. Miller, P.T. Mocanu, Differential Subordinations, Marcel Dekker, Inc., New York, 2000.
- [2] Á. Baricz, Generalized Bessel functions of the first kind, Ph. D. Thesis, Babeş-Bolyai University, Clui-Napoca, 2008.
- [3] Á. Baricz, Generalized Bessel Functions of the First Kind, Springer-Verlag, Berlin, 2010.
- [4] G.N. Watson, A Treatise on the Theory of Bessel Functions, Cambridge University Press, Cambridge, 1944.
- [5] Å. Baricz, E. Deniz, M. Çağlar, H. Orhan, Differential subordinations involving generalized Bessel function, Bull. Malays. Math. Sci. Soc. 38 (3) (2015) 1255–1280.
- [6] E. Deniz, H. Orhan, H.M. Srivastava, Some sufficient conditions for univalence of certain families of integral operators involving generalized Bessel functions, Taiwansese J. Math. 15 (2) (2011), 883–917.
- [7] E. Deniz, Convexity of integral operators involving generalized Bessel functions, Integral Transforms Spec. Funct. 24 (3) (2013) 201–216.
- [8] S. Andras, A. Baricz, Monotonicity property of generalized and normalized Bessel functions of complex order, Complex Var. Elliptic Equ. 54 (7) (2009) 689–696.
- [9] Á. Baricz, Applications of the admissible functions method for some differential equations, Pure Appl. Math. 13 (4) (2002) 433–440.

- [10] Á. Baricz, Geometric properties of generalized Bessel functions of complex order, Mathematica 48(71) (1) (2006) 13–18.
- [11] Á. Baricz, Geometric properties of generalized Bessel functions, Publ. Math. Debrecen 73 (1-2) (2008) 155–178.
- [12] Á. Baricz, S. Ponnusamy, Starlikeness and covexity of generalized Bessel function, Integral Transform Spec. Funct. 21 (9) (2010) 641–651.
- [13] V. Selinger, Geometric properties of normalized Bessel functions, Pure Math. Appl. 6 (1995) 273–277.
- [14] J.K. Prajapat, Certain geometric properties of normalized Bessel functions, Appl. Math. Lett. 24 (2011) 2133–2139.
- [15] S.S. Miller, P.T. Mocanu, Univalence of Gaussian and confluent hypergeometric functions, Proc. Amer. Math. Soc. 110 (2) (1990) 333–342.
- [16] S. Owa, H.M. Srivastava, Univalent and starlike generalized hypergeometric functions, Canad J. Math. 39 (5) (1987) 1057–1077.
- [17] S. Ponnusamy, F. Ronning, Geometric properties for convolutions of hypergeometric functions and functions with the derivative in a halfplane, Integral Transform Spec. Funct. 8 (1999) 121-138.
- [18] S. Ponnusamy, M. Vuorinen, Univalence and convexity properties for confluent hypergeometric functions, Complex Var. Theory Appl. 36 (1) (1998) 73–97.
- [19] S. Ponnusamy, M. Vuorinen, Univalence and convexity properties for Gaussian hypergeometric functions, Rocky Mountain J. Math. 31 (1) (2001) 327–353.
- [20] J. Dziok, H.M. Srivastava, Classes of analytic functions associated with the generalized hypergeometric function, Appl. Math. Comput. 103 (1) (1999) 1–13.
- [21] J. Dziok, H.M. Srivastava, Certain subclasses of analytic functions associated with the generalized hyperge- ometric function, Integral Transform Spec. Funct. 14 (1) (2003) 7–18.
- [22] P. Eenigenburg, S.S. Miller, M.O. Read, On a Briot-Bouquet differential subordination, General Inequalities 3 13 (1983) 339–348.
- [23] S.S. Miller, P.T. Mocanu, Differential subordintions and univalent functions, Michigan Math. J. 32 (1985) 157–172.
- [24] M. Nunokawa, On the order of strangly starlikeness of strongly convex functions, Proc. Japan Acad. Ser. A Math. Sci. 69 (1993) 234–237.
- [25] M.S. Robertson, Certian class of starlike function, Michigan Math. J. 32 (1985) 135–140.
- [26] S.S. Miller, P.T. Mocanu, On some classes of first order differential subordinations, Michigan Math. J. 32 (1985) 185–195.